LT SM - 476

Il Semester B.Com. Examination, May/June 2018
(CBCS) (Freshers + Repeaters) (2014-2015 and Onwards)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours Max. Marks : 70
Instruction : Answer should be either completely in English
or Kannada.
SECTION - A

Answer any five sub-questions from this Section. Each sub-question carries
two marks. (5%2=10)

1. a) Define statistics as per Prof. Bowley.
b) Distinguish between primary data and secondary data.
c) Give the meaning of “Questionnaire”.

)

)
d) Write any four requisites of a good average.
e) What is C.V. given the mean 56, variance 144 of 60 items ?
f) Qq is 20 Q4 is 45, what is its co-efficient of quartile deviation.
)

g) How do you calculate ‘Mode’ when it is ill-defined ?

SECTION - B

Answer any three of the following. Each question carries six marks. (3%x6=18)

2. In a sample study about the food habits in two towns, the following was
observed.
Town X’ : 50% persons were males
30% were non-vegetarians
18% were male non-vegetarians

Town %Y’ : 45% persons were males |
25% were non-vegetarians
16% were male non-vegetarians

Tabulate the above observations.
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3. Compute mean wages of worker from the following data :
Wages(Rs.) :[48—-56 56-64 64— 72 72-80 80-88 88-96 96— 104

Number of
workers : 8 3 11 14 5 7 2

4. Calculate mode from the following data :
X : 0-9 10-19 20-29 30-39 40-49 50-59 60-69
f : 678 720 664 598 524 378 244

5. Calculate mean deviation from median from the following data :
Wages (Rs.) No. of Workers

Less than - 10 2

Less than — 20 13

Less than — 30 20

Less than — 40 32

Less than — 50 | 60

Less than — 60 80

Less than - 70 90

Less than — 80 100

6. Calculate standard deviation from the following data, using Step Deviation

method.

Wages (inRs.) : 10 20 30 40 50 60
No.of Workers : g8 12 2010 7 3

SECTION - C
Answer any three questions. Each question carries fourteen marks. . (3x14=42)

7. The scores of two batsmen ‘A’ and ‘B’ in ten cricket matches is given below :
A : 3228 47 63 71 39 1o 60 96 14
B : 19 381 48 53 67 90 10 62 40 80
Find whether batsman ‘A’ or ‘B’ is more consistent in scoring.
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8. Calculate the Pearson’s co-efficient of skewness from the following data :

Age : 0-10 10-20 20-30 30-40 40-50 50—60 60 - 70

No. of
person: 10

12

24

32

28

11 3

9. Price and quantity of the base year and current year for 8 groups of commodities

are given below :

Commodities Price | Quantity
Base year | Current year | Base year | Current year
it 12 20 55 120
B 10 12 100 80
C 14 15 60 80
0 16 18 30 20
E 18 20 40 40
F 20 15 70 60
o - 16 90 100
H 15 18 80 80

Calculate Fisher’s Ideal Index numbers and how it satisfies TRT and FRT.

10. From the following data of the wages of 122 workers, determine the model
wages with the help of grouping table and analysis table.

Wages (Rs.)
100 — 110
110-120
120 — 130
130 — 140
140 — 150
150 - 160
160 — 170
170 - 180

4
6
20
32
33
17

No. of Workers
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11. Convert the following distribution into more than cumulative frequency curve
and less than cumulative frequency curve and find median graphically.
Wages (Rs.) No. of Workers

0-20 82
20 -40 12
40 - 60 150
60 — 80 95
80 - 100 48
R e
QPR -D
B3 QPONQ0T FINT CARFYTIWTER 280 GVT-T, 3 et vZor. B8 evm IT,3 1
QTR BS50FNLL : (5%2=10)

1. a) Bp,. LPSORT B0, TR T, BT, AR,
b) BB TE0E 08 Hecd Be088 RIS BT, AL 2
C) ”eg,erglw@” o3 tﬁzﬁrw?\bq BRB.
d) 200 2,803 FoAFOOD T, VTLINTSY WBCD.

e) QRNYOT ABNOEIBNSG aiéséod)ﬁ%*sg( FOTB&EOAD.
neds o0 56, 60 03N zpailé 144.

f) Q;-20, Qz—45 ©TY, BTWS IB-MOLTIIY FOBOLBOWO.
g) SRR BSoD T 9,809,:NTT, AT B B BorROLEBVRTO Ber ?

PN -V
B FPNT CANJ)TTTR =T @%ﬁ@ﬁ VB0, J,S aj,a; 116 e03ned : (3x6=18)
2. 0B aé,:gdsam*efgq SR IS0 WRCWEIOD T,FoT B3 FFTOTR £503NMTD FORWOTD).
aa‘é.gd £ X' 1 50% RToID
30% FR0mITONTO |
18% )TOR =020F0T2ONTD
T3 Y’ 1 45% PR
25% TWROTRTIONLD
16% DTOR =00FoT2ONED
0O woﬁﬁ@:\% wegdeﬁdsa BRR.
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3. 39N 903 LHO3NPOTI FoF T RTIRO ﬁ:ae.‘)c:d:a’:gL FOBROLBOD.
3rO (8n.) : 48-56 56-64 64-72 72-80 80-88 88-96 96-—104
308mTT

3 11 14 5 7 2
30336

4. SN 908 L03NVOT WBIRVS :drjzmt‘;)o:baig_L FOR&EOD.
X : 0-9 10-19 20-29 30-39 40-49 50-59 60-69

f : 678 720 664 598 524 378 244

5. RooRd QUWOBODRY, WP, FB TB0D0T B3 FINT 908 903NPR FOBILBOWD.

8RO (BR.) FOIMTT ﬁoﬁﬁ

308 3@ — 10 5

808 803 — 20 13

308 3@ — 30 20

808 &0 — 40 32

808 3R — 50 60

808 38— 60 80

308 3830 — 70 90

808 3R — 80 100 ,
6. FFNT 908 90BNPOT TWHRTT 3O a&%&o&:ocs (Step Deviation) 0¢ s,

BTOTORFORY, TORIREOD.

3RO (Br.) 10 20 30 40 50 60
3@3?@66:’30935: 8 12 20 100 7 3

NN -
B3 FPNT CORYTORTR [T @a;r‘i@ﬁ QZDR. I, @%ﬁ 14 0300 : (3x14=42)

7. ' TBY ‘W' 20w VYT SMOTT TI) BOB,NYA | TR T/ 1Eh 83 Oed Q.
W . 32 28 47 63 71 39 10 60 96 14
 : 19 31 48 53 67 90 10 62 40 80
C3933 SEIMOTRD Negodd Ty, ATIODT) TRODTYT 0L0TEY FOREREOWD.

8. FPNT WoROVNLOT LONT RS VRS mmoﬁwz:% FOBO&RROWD :
aosmﬂ : 0-10 10-20 20-30 30—-40 40—-50 50-60 60-70

=,3ne

24 32 28 11 3
50936 s == 12
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9. t38 T3y TORPENYEY, HR® BRF FoL) 1Y) BRFTIOR Q0D TVONBE FRAVIY
83 891 8RBT,

3 )
FrpiLe RRw IR DY TR RRL SR WY THRF
A 12 20 55 120
B 10 12 100 80
c 14 15 60 80
D 16 18 30 70
E 18 20 40 40
F 20 15 70 60
G 20 16 90 100
H 15 18 80 80

QRO°CIT BT TR TROT xfaméoﬁﬁ%*ﬁgi TR0 &B) B3 AHTH) T2

ucﬁmﬁ%r{@a& TONL 8903 WHUIRH ajaeioi)s% en :e‘o@ mmgcs ROTIO
BReDA.

10. 3973 122 TROFES, BROCDH SOBTIL0B, LB BoPHONDE), R0 B TR
DB §TeS Te3 ABOODROT FORLBOWO.
20 (36.)  Sommoess,

100 -110 4
110-120 6
120 - 130 20
130 - 140 32
140 - 150 33
150 - 160 17
160 - 170 8

170 -180 2
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1. 2 89503 TEp08riven HmhmEVEd T8y AeBHD 63 FeT SesoE, TuR, W E
AoIROCRY, FoHE, M.

80 (BR.) FORNOTT :343.;13=s
0-20 82

20 - 40 112

40 - 60 150

60 — 80 95

80~ 100 48




